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QUESTION 1

Given the following output:

APPL_ID UOW 1D USER_CPU_TIME
*N2 CEZINST 1 0854122226841 1 92762334234
*N2.CB2INST 1 .0BSA127256841 2 326

Which Explain procedure can be used to find the most expensive SQL statement in terms of CPU cost over a period of
time?

A. EXPLAIN_FROM_DATA

B. EXPLAIN_FROM_ACTIVITY
C. EXPLAIN_FROM_SECTION
D. EXPLAIN_FROM_CATALOG

Correct Answer: B

QUESTION 2

Which procedure is used to Explain an SQL statement using information obtained from the package cache or the
package cache event monitor?

A. EXPLAIN_FROM_DATA

B. EXPLAIN_FROM_ACTIVITY
C. EXPLAIN_FROM_SECTION
D. EXPLAIN_FROM_CATALOG

Correct Answer: C

QUESTION 3

Which diagnostic tool can be used to show high-watermark consumptions of Fast Communication Manager (FCM)
buffers and channels?

A. db2pd

B. inspect
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C. db2dart
D. db2mtrk

Correct Answer: A

QUESTION 4

Which statement about Insert-Time-Clustered (ITC) is correct?

A. Views cannot be created on ITC tables.

B. ITC tables do not support row compression.

C. Block indexes cannot be created for ITC tables.

D. ITC tables can release their empty pages to the operating system.

Correct Answer: C

QUESTION 5
A DBA wants to create a table named SALES that has the following characteristics:

Effective data clustering and management of space utilization. Rows in the table should be clustered based on when
they are added to the table. Which clause must be used with the CREATE TABLE statement to define this table?

A. ORGANIZE BY DIMENSIONS
B. ORGANIZE BY INSERT TIME
C. ORGANIZE BY TIME PERIOD
D. ORGANIZE BY KEY SEQUENCE

Correct Answer: B
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